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A @O Hol : 2x2x3.14 = 12.56

12.56 +3.14 =4

webA o @ d @9 Wold Hl=1:4Ygytt.




15.

YF7F37.68cm] Ho] lEH. o] ¥ "ol ¥ em?

\4
L
E

712

= 37.68 +3.14 + 2 = 6(cm)
= 6% 6x3.14 = 113.04( cm?)




16. Hol7l 314cm? Q] YO] M2 9] Ao]E FHA| L,
B cm

>
> &HE 10cm

S5
de g [

[ ]x[ ]x314=314
[x[ ]=314+3.14
[ Jx[ ]=100
Dle(cm)




---6cm--"~

7
1
1
1
GCIIIl
\
\
\
\

=3

N

9 cm?

ul

~--6cm--"~

1
1
1
1
6cm
1
1
\
\
\

— <t

- A2t g ] Holel

229 Yol

6><6><Z=9(cm2)




BAG $20 Fe|9 Fol g FohA L.

“--12cm--""

>
[> ®E: 37.68cm

8

A 25| 57

W8] 12emel 9] 959 1)

+ (‘ﬂ A 20] 6cmel o] Y] )

1
24 x 3.14 x >—|—(12X3.14x§)

18.84 + 18.84
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=5x5x3.14-4x4x3.14
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